

:	2
. :	3 :

:

$$: \{2\} - \mathfrak{R} \quad * -$$

$$6 + 2 - 2 - = * : \{2\} - \mathfrak{R} \ni \forall \{2\} - \mathfrak{R} \ni \forall$$

$$6 + 2 - 2 - =$$

(0.5)..... * =

$$: \{2\} - \mathfrak{R} \ni \forall \{2\} - \mathfrak{R} \ni \forall \{2\} - \mathfrak{R} \ni \forall : \{2\} - \mathfrak{R} \quad * -$$

$$.6 - 2 - 2 - 2 - 4 + 4 + 4 + = * (*)$$

(1)..... 6 - 2 - 2 - 2 - 4 + 4 + 4 + = (*) *

(0.5)..... 3 = \circ \Leftarrow = \circ * : \{2\} - \mathfrak{R} \ni \forall : -

(0.5)..... $\frac{3-2}{2-} = \Leftarrow \{2\} - \mathfrak{R} : -$

$$. (* \{2\} - \mathfrak{R})$$

$$= (1) (2)$$

(0.5)..... 6 + 4 - 2 = * = (2)

(0.5)..... 6 - 12 + 2 6 - 3 = * (2) = (3)

(0.5)..... 18 + 32 - 2 24 + 3 8 - 4 = * (3) = (4)

$$.2 + \circ(2 -) = (\circ) : * \mathfrak{N} \ni \cup \forall (3)$$

(0.5)..... = 2 + 1(2 -) = (1) : 1 = \cup

$$2 + \circ(2 -) = (\circ)$$

$$.2 + 1 + \circ (2 -) = (1 + \circ) :$$

$$. * (\circ) = (1 + \circ)$$

$$* [2 + \circ (2 -)] =$$

$$6 + 2 - [2 + \circ (2 -)] 2 - [2 + \circ (2 -)] =$$

$$.6 + 4 - (2 -)^\circ (2 -) =$$

$$.2 + 1 + \circ (2 -) =$$

(1.5)..... 2 + \circ(2 -) = (\circ) : * \mathfrak{N} \ni \cup \forall

:	2
.	3 :

:

(1).....(3 2) = $\begin{pmatrix} 1 =_0 & 5 -_0 & 8 \\ 5 =_0 & +_0 & \end{pmatrix} \leftarrow \right\}$

(2)..... $\Im \ni (3 + 8 \ 2 + 5) = () :$ (2

$\left. \begin{matrix} [40] 5 \equiv \cup 5 \\ [40] 16 \equiv \cup 8 \end{matrix} \right\} \leftarrow \left. \begin{matrix} [8] 1 \equiv \cup \\ [5] 2 \equiv \cup \end{matrix} \right\} (3$

$\left. \begin{matrix} [40] 15 \equiv \cup 15 \\ [40] 32 \equiv \cup 16 \end{matrix} \right\} \leftarrow$

(1.5)..... $\Im \ni 17 + 40 = \cup [40] 17 \equiv \cup \leftarrow$

$3983 \rangle 40 \rangle 3923 \Leftrightarrow 4000 \rangle 17 + 40 \rangle 3940 (4$
 $9977 \rangle \rangle 98.5 \Leftrightarrow$

(1.5)..... $3977 = \cup 99 =$

:

$16 - 12 + ^2 6 - ^3 = ()$

(0.5)..... $0 = (4) (1$

(1)..... $(4 + 2^{-2}) (4 -) = () : \wp \ni \forall$

(0.5)..... $3 - = \Delta (2$

(1)..... $\bar{3}\bar{q} - 1 = _2 \quad \bar{3}\bar{q} + 1 = _1 \quad 4 = _0$

:

$\left(\frac{\pi}{3} + \frac{\pi}{3} \right) 2 = _1$

(0.5)..... $\left(\frac{\pi}{3} - \frac{\pi}{3} \right) 2 = _2$

(1)..... $\frac{\bar{3}\bar{q}}{2} + \frac{1}{2} = \frac{0}{0} \frac{-2}{-1} = ((3$

(0.5)..... $\Im \ni / \pi 2 + \frac{\pi}{3} = () 1 = | |$

$| 0 - _1 | = | 0 - _2 | \leftarrow 1 = | |$

(0.5)..... $1 = \bar{c} \leftarrow$

:	2
. :	3 :

$$[\pi 2] \frac{\pi}{3} \equiv (0 \quad -1) - (0 \quad -2) \Leftrightarrow [\pi 2] \frac{\pi}{3} \equiv ()$$

$$(0.5) \dots \dots \dots [\pi 2] \frac{\pi}{3} \equiv (\overleftarrow{\tau} \quad \overleftarrow{1}) \Leftrightarrow$$

$$(0.5) \dots \dots \dots$$

$$\tau = 1 \Leftrightarrow 1 = \begin{vmatrix} 1 & - \\ 2 & - \end{vmatrix} \quad (4)$$

$$(1) \dots \dots \dots [\tau] \quad (\Delta) \quad \tau \quad \Leftrightarrow$$